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(1) [boO]
1) J(f+g;la,b])=J(f; [a,b]) + J(g; [a,b])
2) J(af; la,b]) =alJ(f; [a,b])

(2) 00000
J(f5 [a,0]) = J(f5 [a,c]) + J(f5 [e, b])

(3) [000]000 z€(e,b) 000 f(z)<gx) 00000

J(f; [a,b]) < J(g; [a,b])

(4) [D00D0]00 10000000 7000
J(7; [a,b])=b—a

000000000 A={z,...,z,} 000 Y mi(a; —2i-1)0 Y My(w; — 2;-1)0
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(1) [0o0]

1) J(f+g;D)=J(f; D)+ J(g; D)
2) J(af; D)=aJ(f; D)
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(2) [00000)00 Dy, D, 000 m(D1ND,)=0000000 C,UD, 0 Dy 4Dy, 00
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J(f; D1+ Ds2) = J(f; D1)+ J(f; D2)
(3) [000]000 (z,y) eDOOO f(x,y) £g(z,y) DODOOO

J(f; D)< J(g; D)

(4) [DCO000)0D0 10000000 7000

J(7; D) = m(D)
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(A&, m) = 3> (&) (@i — 2i) (Y — yj-1)
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